
Geometry CC Name: ___-.!~_E_'{____ 
Proofs Quiz Review Date: _______ Period: 

1. Solve and write a justification for each step. 

)a x+3 8- ­ := 
-2 

G' ::"I I V II2....r\ 
b) 2p-30:=-4p+6 ~~ v~ 

lop - ~o -= l.o Acl.d . P D Eo 
x.+"3 -= -llc Mu.\-h poe ta~ --;... D ~ -"c\.-l. poE 

X -=­ -l 9 S....,JoW-. fDc P -=- t... p'\v', , ? cE 

2. Write a justification for each step: 

5y + 6 1y l 21 

• • • 	 1. DIL--<; . of ~ S~. 
A 8 C 

2. Sv.JoS-h ~-\\0 " 
I. !tR = l'W 

3.S~1r. PeE' 
"2.. ~iy + fi - 2.1' .-1- 2,1 

4. S~Y. poe
3. 3y + G= 2 1 

5. D'w't , POE"
Y. 3y "" 15 

s. y = ;) 

3. Identify the property that justifies each statement: 

a) KL ~ PR,so PR ~ KL S't5 m~ · PD~ 
b) 412:= 412 ILa....e- \..Q...)£, P~E 

c) If a =band b =0, then a =0 Tro..nS, \,C)t­

4. Write a justification for each step, given that BX bisects LABC and mLXBC:= 45° 
.---+ 

1.. /J .Y trisec ts .::::::..\8(.'. 
1. ~'v~ 2, ,~ ..lnx so ,::XHC 
2. P ~IC:-. o.f. L \.:7~ S A-c......-\'OY 	 :L mLAHX =DlL.\'nC· / h 

~ '. 

3. 	pQ...E- . of :;; ,"-s. 4. Ill/ Sile =4S" 

:; . rll/ .. \HX:= '15" 


4. ~'VLf\ 	 (l. III ·· ..\HX +- Jnl' Xf?(: ::: In / J\!JC B V .. 
5. S~$\\ '\-.-~~-n 7. ·1;;' + IS" -=.:; 11 1/l1l?C 

C 

~ l. 'l)i) := nV AiJC6. LAd-d. POS-\u...\O--\-lL 
~1. / , ·).I ' C i~ n ri ght ,111g:!.t:. 

7. S,-"'s"'~,""Cn 
8. 	S~tV\.-e\\E--o" 


L- .
9. 0 tl--E-., o-E- r\ ~+ 

5. Complete the two-column proof: 

Given: 111m 
Prove: L l ~ L 2 Statements: Reasons: 

Given1. 111m 
2. Ll ~L3 Vertical Angles Theorem 

r3. L 3= L2 ~ - ~'- I- '~ • \ -...;, " \<:r 	 LS . 
4. L...\ :;- L 2. \v-o....ns. POE 

'U 

http:v-o....ns


Statements Reasons 

1. AB == EF Given -2. AB = EF DL~. o.f­ SCZ-9r . -
3. E'F -:: Ae. Symmetric POE 

4. EF == AB t>~. ~ :- SIIUjir . 
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Write the converse of each statement below. 

a) If an orange is red inside, then it is called a blood orange. 

b) If a tree loses its leaves in winter, then it is deciduous. 

In the figTlre, mL2 = 70. Find the measure of each angle. 

1. <::::3 -=roo 
3. <::::S \ \ 0° 4. <::::1 \ '0° ., 

5. <::::4 \ l 0 
0 (l. LG ~oo 

Classify the angle pair described, Then tell whether they would be CONGRUENT or SUPPLEMENTARY. 

8. L3,L6 

A\t.E'~ ~ . : ton~nA. QJ\-t AI±. lfd . . tonsruw+ 
10. L 3, L7 11. L 2,L6 


e.oVV~D. <:.cnai\.l.v1+ COVrlSP . I CDnQ(u ttl+
I 0 . . UI 

Find x so that 111m. Identify the postulate or theorem you used. 

13 . 
_~,~ I 

~ !,~~7....·..~-'''' 171
"'2. {~__1 

... 
3x+ (q ':. 4~-t.. 


\1. ':- X 


LonvQfS.fL 

c...oY-Y~ pQ(\d~ "'-0­

Ls. 

Use Il l{' given p lrll! 10 \\T i ((' ~! two-colu 11111 pmr. (o f 11 c' ~ ' fll ille i r k ProPNly of 

Giv("n: / l.IJ =- 1:.1· 
Prow: F.F :. AB 

.... 

14. 
t' \ \ /'

\~\XUi1 + 18)' \2..1 
(7 '- 2)" \ 

\2.1 . \ t . '.i(m 

+)(-24 -= sx+,~ 
21(. -= Ii 2­

X:::. 2..\ 

c..onv(U'"SL 

A\+. Ex-\-. 


L-s. 

9. L4,L6 

12. L 3, L 5 

SoJ)1~-~~df.. lf1t. . S~p. 

',y" 

15' 1ti- (Zt -;-" 1 ~ i/r/ "' ,'it 
/' .. 

~_ ./ /(51: - l ~)· tO( 


( / 


2Jc ~ \2- -:. S X -\'S 


Z~ -= 3)( 

9 ::-X 


Lt;)(\ " ILYS -'L. 

A \+. \V\.-\-. 
L~ 

http:LonvQfS.fL
http:cnai\.l.v1

